[(63-1FFBFIR] BREMRER

I & Booal oAl BB Bi| #%E e
T
2l T m3 | 392
737 T m3| 53
HER W<1.0 m3 "
BR z3% W<1.0 152
BBk m3| 264 [0 0 00
HEEET
FUh-RTOyHET Jay i EEEFA14008 ZERFE | m2 | 90.0
ALY -+ 18-8-40 m2 | 23.3
ZiAM m3 | 242
02 H B Lk 44 m2 | 90.0
Th— A | 864.4
BT m| 12.7
MOkET-1 m3 6.6
INALET-2 md | 7.2
KimpEEET m 12.8
‘aAVHY—+I =® 1.0
EnAEEET X | 1.0
(iR m 11.3
MIT REL m2| 57.8
BEE ®200 m | 21.0
BEYRET
BEYRELT) 2>y Y-+ ®H m3 3.3
737 m3 2.9
W&
s E A E Co (%&Mh) m3 3.3
Co (8k#A) m3 2.9
RE& T
RiZT Bl R 5 #m2|  30.1
HEEMZES #m2| 42,1
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\ B £ Hll R 8 HH R HE (KK |2 E (KIK)
RS il
Wr | et AT mo| T | vew| B | W | e | AR E| W | v B | W i) e | 4R &

BP-4.73

BP 473 31.9 /1595 | 75.4| 24| 1.20| 5.7| 0.4 0.20| 0.9 8.2 | 4.10

NO.1 7.90 | 20.0 |25.95 205.0 | 3.7| 3.05| 24.1| 0.7] 0.55 | 4.3 12.7 |10.45 | 82.6

EP 7.80 | 8.5(14.25 [111.2] 2.2 2.95| 23.0| 0.8] 0.75| 5.9 5.0 | 8.85 | 69.0
EP+5.80| 5.80 425 247 2.21 220 12.8] 08| 0.80| 4.6 5.0 | 5.00 | 29.0
& F 20.43 391.6 52.8 11.1 151.6
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o I ? B ? A i A i A A‘fg A i A %
= | P/- A A A AT A £
i % B 1 A 1 A 1 A 1 A 1 A
1z
|% B 1 A 1 A ! A I A 1 A
i% B 1 A 1 A 1 A 1 A 1 A
.M N A 1 A i A i A i A :
B A A A A A
H///) A A A A A
.% B Il A 1 A 1 A 1 A 1 A
|/ B A A A A A
A A A A A A
~ %‘ B A A A A A P
~.[7] A A A A ~. A
{ 8250 4400
T BE 5 23 = R T E
TUoA—RTAVIIE [0V EE
A=((7.86+8.25) /2 x (7.27+17.66)/2+(4.30+4.40)/2 X (7.66+7.89)/2) X
1.044=98.086 m2 90.0
A=98.066-7.71%1.044=90.04
SO 1) —17.71%1.044%2.90=23.34 m3 233
Z23A4426.85/10m2%90.04=241.76 m3 2418
W2 HH 7 LE 44 m2 90.0
T 271 —5%19.2/10m2%*90.04 =864.38 P 864.4
m 12.7

HIETL =8.25+440=12.65
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A Al - 10m%z Y
i ¥
3 |
500
320 80 ) 100
TFL Rre 3 S B R =
JOvORERT |[&EHaro)—+F

(0.15 % 0.50+(0.10+0.18)/2 x 0.03) X 10.0=0.792 m3 0.79
Eily
(0.18+0.15) x 10.0=3.30 m2 3.30
B #th#t

(0.15 % 0.50+(0.10+0.18)/2 x 0.03)=0.079 m2 0.08
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RO®:
3
KimEeE T
400
2 o
o \e®
arvy)—+F
(18-8-40) 550
TR TR B EN g B E
RimEEE T ‘|EHaVD)—k
(0.40+0.55)/2 x 0.50) X 10.0=2.375 m3 2.38
B
(0.50+1.044 x 0.50) X 10=10.22 m2 10.22
B ith#f
0.40+0.55)/2 x 0.50=0.238 m2 0.24
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@ 8l 13ty
iR %
B |
sRavyy-pT
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ooV Ve Ue U™
O(OTSOHTOHOSOHT) 818
PSOsS0s0-0-0h
CINAINAL N A N A
B : 29~} (18-8-40) t=100
BRAE - EA79v4-77 (RC-40) t=400
TE, R 21 = = B =
oo —FT | EGaUD)—F
1.40/2%7.90% 0.10=0.553 m3 0.55
PR
1.40/2 %X 7.90=5.53 m2 5.53




ENXBEEIHEHE

XY

EHAEEIIER 15700

7900 7800
v539. 85
Vv539.07
V538, 41 B ¢,*
T \”*T*Tif’rff - 5 e
1 | \ | \ | \ | \ \ | \
9536. 4 WV 536. 80
7oh—KXTn v iEE 12470 EBREMEBRESS 3230
400
H (m) M WhY-b (18-8-40)
BP 2.00 o
NO.1 297 KikEnN 477 (VP T5)
EP 2.66
g %7K} (300 x 300 x 50)
THE 2.30 \Zu
_LI _
4
g ,é ( ,
100 B 100N\ a4 (RO-40)
- . B+200
ERMEENRTESS 258
7F_a‘¥4/%ﬁ$§ 3 N B R =
EDIEN 1
A=(0.40+1.78)/2 x 2.30 X 15.70=39.360 m2 39.3
pity e
(2.30+1.166 X 2.30) X 15.70+(0.40+1.78)/2 % 2.30 X 2=83.228 m2 83.2
F I (RC-40)
2.148 X 3.23=6.938 m2 6.9
B #h#f
A=(0.40+1.78)/2 x 2.30=2.507 m2 25
BiGT
-PHERIE 2.30%15.7=36.11 Hhm2 30.1
CBSES RIS 2.30%1.166 X 15.7=42.10 #m2 421
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H= 7.420m

s ar 7 Y — |k (18-8-40)

A= (2.980

V= 22112
AL (— R

Al = (2.980

R

A2 = (0.000

A= 44,223

B X

7420

300

AT 0 Hok

11
t = 0.300m Bl = 2.980m B2 = 2.980m
+ 2.980) / 2 X 7.420 =
X 0. 30 =
+ 2.980) / 2 X 7.420 X 2 =
+ 1. 044) X 7.420 X 0. 300 =
+ 2.324 =
2980
{ [
avyy—F e © g
| 2980 |

22. 112 m2

6. 63 m3

44,223 m2

2.324 m2
46. 55 m2
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AT 0 Hok

1
H = 8.040m t = 0.300m Bl = 2.980m B2 = 2.980m
- 227 U — |k (18-8-40)
A= (2. 980 + 2.980) / 2 X 8. 040 =
V= 23.959 X 0. 30 =
<R FE (— %)
Al = (2.980 + 2.980) / 2 X 8.040 X 2 =
whgR R
A2 = (0. 000 + 1.044) X 8. 040 X 0. 300 =
A= 47.918 + 2.518 =
B& 300 2980
] | l_—
Ay y—k A
g (18840 = g
N | 2980 |

23.959 m2

7.19 m3

47.918 m2

2.518 m2
50. 44 m2
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100 250 100
7" LvAMLEYAIE
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18| 2 mE\\0 BEUD
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. LD BN (1:3)

50 450 soNZEEHE#t (RC-40)
M R 3 Z = B =
LEEET 7 L3 vARLEYEIE
10/0.61=16.393 1@ 16.4
BEJLAIL t=20mm
0.45x 10 m2 4,50
E I #(RC-40) t=100mm
0.55 % 10 m2 5.50
HWET $kfFaron—t+
(0.10 X 0.155+(0.55+0.85) /2 X 0.35) X 10=2.605 m3 2.60
1By

2.605/10 % 11.30=2.94 m3 2.9
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B Al EGED)
b5 - 3
3
B4 T-1 4730 Exf -2 5800
i i
PRV ES = EN H i B E
HEIHE O350 4}
A=((4.73+0.50)/2 x (8.53+8.92)/2+(5.80+0.50)/2 X (10.11+10.55) /2) X
1.044=57.79 m2 57.79
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LRSS R :&?0:0;&:03.\:0;“:0;\\?0:\‘:1l‘ d,
Y e . .
— \‘_,-;.:,73"{7;?;,:.:.:.:.:.:.?.‘« Setatetetetatus! /)
J \ £
e 172, 1
/ .

nfi N
L

T B B = R
BEOMET BB o) —Fi=04

m3 3.3
(0.8%1.7+0.9%2.1+0.8%4.0+0.5%3.5) *0.4=3.28




638 FRFRE B E OB B X
IERS| I 7& =Rl oA B O® B #HE e
BTEKEEE L=6.0m
+T
EHI k) m3 | 87.9
R T8 m3 7.0
BR BE HAL m3 3.0
HR Hm| REGRAL m3 1.0
— w| 05| gavaies
WEEET
JRyoBI | MmIavy 1% 2 [E350 m2 | 30.6
A2y ) — b 18-8-40 m3 5.8
EAavH Y- b 18-8-40 m3 6.1
EARA RC-40 m3 | 15.9
Rigavs)—+k 18-8-40 m3 0.4
" Eilk g m2 1.0
-+ 18-8-40 m3 0.6
" Eilk g m2 2.0
M RC-40 m3 0.3
KiREISA T VP75 m 7.4
Rt U RhLE£F
ORI avhy-+ 18-8-40 m3| 22
0o B m2| 15.9
ORI avhy-+ 18-8-40 m3| 2.4
n By m2| 18.1
T AET m3| 17.7
BEYERET
BEMRELI|2vsU-rTRY IR m3 5.0
BB -t m3 5.0
nong
w5 & BB ahy-h m3 5.0




BEHESE

i N £ Hll R 8 HMOoRE (o omo) | #ORE (% m )
b=y FEHE
Wr o || % B | Wr g |Elrm| £ B | WP o | Tekm| g B | W om | Phkim &
BP 13.4 1.4 0.70 0.6 0.30 0.2 0.10
NO.1 2.50 | 14.8] 14.10 35.3 1.4 1.40 3.5 0.6 0.60 1.5 0.2 0.20 0.5
EP 250 | 27.3] 21.05 52.6 1.4 1.40 3.5 0.6 0.60 1.5 0.2 0.20 0.5
a F 87.9 7.0 3.0 1.0
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a7 —r7T v IR

WS | HEEE
Wr | EHlTE| S & | W om | P £ = | Wrom |CESkrm| £ & | Wrom | Pl 4 &
BP 1.0
NO.1 2.50 1.0 1.00 2.5
EP 2.50 1.0 1.00 2.5
a F 5.0




Tay 7 B & G &R
vl gl Bk HZ S
7 my I fE T
&7 ny) 2350 m?2 30.6
A7) =} 18-8-40 m3 5.8
Hikav) )=} 18-8-40 m3 6.1
A4 RC-40 m3 15.9
Kiavp)-h 18-8-40 m3 0.4
no R m2 1.0
HEavyy—h 18-8-40 m3 0.6
o T m2 2.0
B RC-40 m3 0.3
ijfjff VPD 75 m 7.4
W H UBA (44 & F 12.0
/NAIET A1
ay7)=b 18-8-40 m3 2.2
ity m2 15.9
/AR T2
av))=h 18-8-40 m3 2.4
o T m2 18.1
MET
AFE L m3 17.7




70y 7k R

Ky te PNt e 25 JE = (n) TEER | FESER| A
oo | IRA)B |1 () [ER () [9ER (m) | Ribm | JERE | (m) (m) (m2) fii #&
1:0.5| 6.157| 6.057| 6.772
1 1:0.5] 6.320] 6.220] 6.954] 2.200] 2.200| 6.863| 2.200| 15.099
1:0.5] 6.320] 6.220| 6.954
2 1:0.5| 6.474| 6.374] 7.126] 2.200] 2.200| 7.040| 2.200| 15.488
P
&t 6.218 4.400] 4. 400 4.400| 30. 587




7y U
O~ u v 7 (PE350)

A= 30. 587

OffiA= > 7 U — |k (18-8-40)

V= 30.6 X 0. 190

OFEiA=z 7 J— b (18-8-40)

V= 30.6 X 0. 200

O A A (RC-40)
¥ CEHIE

BP~NO. 1[XfH] (0. 335+0.899) X 1/2X5.639X2. 200
NO. 1~EPX[#] (0. 335+0.915) X 1/2X5. 797 X 2. 201

A7) —k
(18-8-40BB)

EAa7— ¢
(18-8-40BB)

= 30. 6 m2
(FEEF& V= 0.19 m3/m2 )
= 5.8 m3
(t= 0.200 m)
= 6.1 m3
(%))
= 7.8 m3
= 8.1 m3
CEEhE CE¥IE) .
: " B = 15.9 m3
L FiEavsU—+b
a.-/."_ % =
%\ ¥
HE
292
FARR (RC-40)
\ g_
891~923 =
3




OXKigar 7Y —hk
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1) 10m34 v H&

a7 Y — |k (18-8-40)

A= 0.940 X 0. 100

=
I
e
(@]
©
>
X

10.0

A= 0.10 X 1. 118

2) EREY KR

327 Y — |k (18-8-40)

A = 2.24 / 10.0
Q@K1 7 (VP ¢ 75) (
A =( 6.218 - 0. 500
N = 28.128  / 2.5
1A= 0.550 X
L = 0.615 X 12

OWH LB IERS

X

X

1. 118

2 X
4. 400
4. 400
m2 2 1P )
4.400 X

0. 094 m2

10.0 =

1118 =
12 @&
0.615m

7.380 m

12 f& T

4.400 m

0.94 m3

2.24 m2

0.4 m3

1.0 m2

28.128 m2




OZEfET

I, =

1) 10m¥% v &

« 27 ) — | (18-8-40)

A= 0.10 X 0.59 + (0.10 + 0.59) / 2 X 0.25

Vv = 0.145 X
- FERER (RC-40)
A= 0.790 X
Vv = 7.900 X

SR (0 )

A= (0.100  +
i
A= 0.790 X

2) ERY D HE

« a7 ) — | (18-8-40)

V = .45 /
- JERERF (RC-40)

V = 0.79 /
R (— )
A= 4.50  /
A

10.0

10.0

0.10

0. 350)

10.0

10.0

10.0

10.0

10.0

10.0

4. 400

4. 400

4. 400

4. 400

4.400 m

0. 145 m2

1. 45 m3

7.900 m2

0.79 m3

4.50 m2

7.90 m2

0.6 m3

0.3 m3

2.0 m2

3.5 m2




©/ha1kET-1
s ar 7 Y — |k (18-8-40)

V= (0.615X6.470+(0. 325+0. 887) X 1/2X 5. 620)
- Bl
A= (0.615X5. 620+ (0. 325+0. 887) X 1/2X 5. 620)
6. 490X 1. 118X 0. 30
CEE@E)
©/hA ik T-2
- 27— | (18-8-40)
V= (0.615X6.824+(0. 325+0. 923) X 1/2X5. 974)
- Bl
A= (0.615x6.824+(0. 325+0. 923) X 1/2X5.974)
6.804 % 1.118x0. 30
CE¥ &)
ML

x0.30

X 0.30

=]

V = ((0.940+1.538) X 1/2X5.974 X (3.990+0. 750) X 1/2) X 1/2

0. 615x0. 500 X (0. 750+0. 500) X 1/2

&t

2.2 m3

13. 7 m2

2.2 m2

15.9 m2

2.4 m3

15. 8 m2

18. 1 m2

17.54 m3
0.19 m3
17.73 m3
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